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1
3, 6, 7

R 2
Al =3000X05%10°%=1.5 mm
N =500 X 500 10 + 8000 X 100 = 3.3X10° N

s 3
¢=(1+1)x10°/500=4%x10° mm™*
20 N/mm?
I — 50 mm
€ [2X10° N
3
3N IS
€
o
=4
3.2X10°N
— — 50 mm

N = (1/2) X 20 X 250X 500 = 12.5 X 10° N
M = 12.5X 10° X 250 X (2/3) + 3.2X10° X400 = 2.32X10® N * mm

R4
& 100 (900—X,) : X, = & : 0.5x107
* &= {(450 / X, )— 0.5} X 10°
900 — X, ) .
o1 = &xX200X10°=(9.0X10"/ x, )—100
Xn
Te=Cc= (3.6 X10%/ X, ) —4.0 X 10° = (1/2) X 10 X X, X 600
05x10° 10 ) 5 8
3000x,” + 4.0 X10°x,—3.6 X10°=0
Xn = 286.1
Ts=C.=858300 N
Xn, =286 mm
1.25x10°
— 100 mm
1Q7 x10°
£
£
<
3
l N 286 mm

0.5%x10°
M = 858300 X {614 + 286X (2/3)} = 6.91 X 108 N - mm

85
M, = 0.9 <4000 X 500 X 900 = 16.2X 10° N - mm = 16200 kN * m

(0.6 X 1.0X2x10)X (1/2)l =16200 | =164 m






